Shieww thist Show that the equation
@+bf +@=bf _ o, ||(®
2 can be rearranged to give  3x*+ 7x—13=0
S 1 3 3 2 Solve the equation
olve -+ ===

(3]
o)
||
L
{
>
+ |
I
—

X 2x

%/%/H N ———E. TR

Show that 25 — (x=8)° _ (2”)218"’6) Solve 4 + 3 —
@ @ x+3 2x-1
Solve the equation
d + 1 =4
@ x+2 x-1
4 N | N
¥ ~85+15 2 +x—6

Simplify fully - =————= | | Simplify fully

x* —7x+10
6 ) )

- N A
Simolif X =3 2+ 5x+ 6
1mplry ’2—‘9' Simphify fully 7231795

= 2
) -
Simplify fully . ~ x*
23y Simplify fully 22>

x*—8x+15 @ 25+ 5x




N

~

Rearrange the formula to make 7 the subjej Make s the subject of the formula
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